Lo HRAY HEASEE

(1] P28 1 KA 228k 2 Ho KNS VAT 72 2 Fic TR Y HoiExr &0 A L 3, K & &
oA E TR X,

(FR2EE)
(2] ZoDZH x L'y Officx® +y3 =3xy2 2B H 2 L %, x? + y2 DREKAE K OHR/ Ml % 5K
J:o

(PEAAE)
[3] /iEAVx + Jy = 10K I T2 HEOR T 2% X,

(FR2AEE)
(4] y =x(x — D)(x —2)DFKD T HIFRDO KKz % H 2 D hfit &l & o AT rfE % 5HE 2 X

(L4
(5] fri T9COSH0920 o (e iz (01 5 Gk SRR R T

(LA

cos 8(p+sin 9) = A

(6] [ apysme 40 ZatHE L.

(LA

(7] ¥v~AHoHICW 7z 2 BEEOVKZ E» ICHET (EABFFICHED 28K 2ICFrEide %,
FEORTERAD BT, HLE Y ~4 RUOFOE &I EHT,
9]
(8] y = Asin px + Bcos px% H—72 2 IELKBUCE T4 X,
(EEER SR}
(9] y = FO)DHDRES () DMIFRDE G ~bhx =a b L Ey=b7a 5 T &2 TF(x)DEFRZ X
HiEIC TR T 2 FEUMUA,

(EEER SR}
[10] cosnf Kk U'sinnf % sin K% Kcos @ D#EEL & L CRERE Lo HL n T HFEEL 7,
(SRR}
[11) e* +2cosx + e XDk X itt/NDfEZ Kb X,
(R2EER)
(12] Tim(3)™ zskn &,
RIS ERE R TS Y
(R2EER)

(13] [ cos?xdx% K X,

78
S
EWM



[14] Cycloid (%) :x =a(t—sint),y = a(l—cost)® Rollcircle (Hz[) 25—l 722 & & D
i & x il & DR oM%K X,

(RAHK)



